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It turns out that it stood above ten T ’fochim - 9Rp 71377 ' 7o0naLT TONWSN

Overview

The & 13 derives from the carrying of the 17X that when the 0% carried the X it
was higher than ten 2°19v from the ground. The entire 117X was ten 2°19v high. People
carry burdens at the third from the top (two-thirds from the bottom);! and then when
it was raised on their shoulders the entire 177X was above ten 2°190 from the ground.
nooIn makes this calculation and resolves certain contradictions.

- ANON NYM BNIN MINT 2NN UHY YINY 1Y DTN gNanT
Since that from the shoulder of a person till the ground is three N2y, as it states

in 23390 of ANBNR N9 that -
= 4D 1N 2ONPWNRI 1N 191 1PN NDN JY IPTVIN NNTIVI

Xn7iw9p and all the other son’s of 1277 were hung up on three n»R, for their
heads were chopped off, so three nx was sufficient.

Moo responds to an anticipated difficulty:
= SININ 7) £Y92 NN Y NN YR IDIAN 1N NDIY 191 DD 9N (3,55 xmv) YINT NIPN)

And regarding a ;1p» which is an 72K long by an 72X wide by a height of three

m»R, which meets the requirement that the entire body fits into it, even the head;
how could that be if a person is three naX tall up to the shoulder, how could his whole body
[including his head] fit into a Mp»n whose waters are only three n1aX high?!

mooIn responds
= YYNINI NYYNY 0NN VY DN DIFWIT

That when he will enter into the water, the water will rise above his head —

mooin discusses another (seemingly) difficult case:
= NN YAIN 12N (2,7 97 02 x23) 51929 999190 9102 9INRT 19219Y

! The staves (the 17&77 >72 with which they carried the 17IX) was placed one third down from the top of the NX; ten
divided by 3 =3 and 1/3. When the 1R 72 were on their shoulders, 6 and 2/3 onov of the X were below their
shoulders.
2 An nnR is six o'now; three Nax = 18 o°noy; the 17X hung down below the shoulder the 2% 62/3 onow (see footnote
# 1), this means the bottom of the 7% was 111/3 0ndv above the ground (18-62/3=111/3).
3 The n"27 M7 amends this to read oPwRAT (instead of 2PWRTM).
4 The 171 °12 were first killed (presumably beheaded), then 7noX requested that they be hung up. A slab three N1 high
was sufficient on which to attach their corpses since from the shoulder down (they had no head) they were three nRx.
> A mpn of that volume, 3 cubic NX, contains forty X0 in which the entire body of a person can be immersed.
¢ The walls of the mpn are higher than three nMnX; it is only the water that needs to be (only) three nwx high.
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And regarding the ‘cavities’’ mentioned in the end of M7 227 7715 whose

length was four nR; the reason it was so deep -
- DNV IN NV 719N TINI PIN PYPYAY N OY PIND 229 INIY) YN O 1391

That is taking into account the body (three nX) with the head and neck, and the
thickness of the walls of the coffin, considering they inserted the coffin one or
two 2°rov inside the 15. That is why four X are necessary.

NN discusses another case:
= (3,297 NINA N33 U932 19N YAIN 729807 IR PN 2an

And regarding 77°8" P17 where four R are required in the beginning of 'on

2''2; the reason it needs to be so high, even though a person is not tall Nx '7 -
= PN YAIN T2 799 MINIY DIPY 1INY 123X HPAY YR ININ DIVN

Because the neck and the head make him taller than three nnX and he can easily
raise himself on his toes'! to see the other’s property, Therefore four nmnx are
required to prevent 77°X1 pry.

One final clarification:
= TN YAIN DTINR TV MIPNT (x,n1 97 pvey) 2ININININY 02 19999NRT X

And this which the X773 states in ¥7INX7w 5% P79 that a person’s ‘place’ is four

MR, even though that according to NM50IN a person is less than MnK '7, the answer is -
$IYNIN NHYNY 17 LWIDWI 1393990

That is when he extends his hands above his head, he is then n»x '7 in total.

Summary
A person is three NMnX tall up to his shoulder and less than four mnx tall overall.

7 The manner of burial then was that they dug holes (3°312) into the walls of a cave and inserted the coffins into these
1213. The depth of these 1312 was four nnR
8 The coffin did not fill the entire four NX of the 13; there was one or two extra 2°nov (perhaps taller people would
need the extra space). [It seems that the height of a person (if we assume an 72X to be about 19 inches [the My*w of
7RI 00 onnaR ) if it is about 3and 2/3 MR (we are taking off a ndv or a»noY) this would translate to about 68
inches or 5°8”.]
9 7°X7 P means invasion of privacy when someone else can see what you are doing on your property. This reduces
the usage and the value of the land. See footnote # 10.
10" When two partners divide their courtyard either one can require the other to join him in building a dividing wall,
which must be at least four NR high in order to prevent 7°X1 P,
11 See nR 7"7 X,X? 811 '010.
12 The mawn on X, states that if one awakens and finds himself outside the naw o0, he has only four nx in which
he can maneuver himself. The X3 explains that the 770 writes (v3,10 [M2w3a] NMWw) 1NN WR 12w (every person should
sit in his ‘place’) and the place of a person is Mk 7. The question is that a person is not tall nwax 7.
13 See ‘Thinking it over.
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Thinking it over

mooIN explains why 78 2w ¥pn is DR '7.1% The X there addresses this issue,
where 7R "1 says his body is three X (?) and another 7nX to extend his hands and
feet; while 7717 "1 explains three mnR for the body and an extra 72K to take an object
from under his feet and place it under his head, w"»y. It is surprising that ms01n does
not mention that np1omn.

14 See footnote # 13.
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